

Prolongation Structure of the Equation Studied by Qiao*

YANG Yun-Qing (杨云青)¹ and CHEN Yong (陈勇)^{1,2,†}

¹Shanghai Key Laboratory of Trustworthy Computing, East China Normal University, Shanghai 200062, China

²Nonlinear Science Center and Department of Mathematics, Ningbo University, Ningbo 315211, China

(Received March 15, 2011; revised manuscript received May 4, 2011)

Abstract The prolongation structure technique of Wahlquist and Estabrook is improved and applied to a new equation proposed by Z.J. Qiao [*J. Math. Phys.* **48** (2007) 082701]. Two potentials and two pseudopotentials are obtained, from which a new type of inverse scattering problem, Lax equations, and infinite number of conservation laws are obtained.

PACS numbers: 05.45.Yv, 02.30.Ik

Key words: potential, pseudopotential, Lax pair, conservation law

1 Introduction

Recently, Qiao *et al.* in Refs. [1] and [2] proposed a new completely integrable equation:

$$m_t = \frac{1}{2} \left(\frac{1}{m^2} \right)_{xxx} - \frac{1}{2} \left(\frac{1}{m^2} \right)_x, \quad (1)$$

which may have smooth solitons. This equation was shown to have bi-Hamiltonian structure and Lax pair, which imply integrability of this equation, and two kinds of peaked solitons were given in their paper. By adopting the phase analysis method of planar dynamical systems and the theory of the singular traveling wave systems to the traveling wave solutions of the equation, Li *et al.*^[3] gave many solitary wave solutions, periodic wave solutions, Kink/antiKink wave solutions, cusped solitary wave solutions and breaking loop solutions. At the same time, this equation has cuspon and W/M shape soliton solutions.^[4–7] In Ref. [8], the equivalence of the Qiao equation and the modified CBS equation is proved. The Painlevé property, Bäcklund and Darboux transformations for modified CBS have been obtained in Ref. [9].

It is well known that completely integrable non-linear equations have common features, such as the existence of Lax pair, bi-Hamiltonian structures, recursion operators, and applicability of inverse scattering methods. One of the effective method to test integrability is the prolongation structure technique of Wahlquist and Estabrook (WE),^[10] in which they showed that the prolongation structure of non-linear equation was an incomplete Lie algebra, then they took the force closure method to investigate this Lie algebra. Dodd and Fordy^[11] made the method more algorithmic and put it in an algebraic, instead of differential geometric framework.

In this paper, we would not adopt the approach of force closure, but introduce the relations with the basis of Lie algebra $\mathfrak{sl}(2, \mathbb{R})$ to study the Lie algebra construction of Eq. (1). We obtain the two potentials and two pseudopotentials. Moreover, we can recover the inverse scattering problem given by Qiao^[1] from one of the pseudopotentials, and we can get the Lax equations and infinite conservation laws of the new equation from the other one. This paper is arranged as follows: In Sec. 2, the prolongation structure of the Qiao equation is given, which is an incomplete Lie algebra; In Sec. 3, the representations of the incomplete Lie algebra are given, and the potentials, pseudopotentials, and the inverse scattering problems associated with the Qiao equation are obtained; In Sec. 4, the Lax equations and the infinite conservation laws of the Qiao equation are derived; In Sec. 5, a brief summary is given.

2 Prolongation Structure of the Qiao Equation

By the transformation

$$m = u^{-2/3}, \quad (2)$$

Eq. (1) can be transformed to

$$u_t = -u^2 u_{xxx} + \frac{2}{9} u_x^3 - uu_x u_{xx} + u^2 u_x. \quad (3)$$

Introducing the new variables

$$z = u_x, \quad p = z_x = u_{xx}, \quad (4)$$

Eq. (3) can be associated with the following set of 2-forms:

$$\alpha_1 = du \wedge dt - z dx \wedge dt, \quad (5)$$

$$\alpha_2 = dz \wedge dt - p dx \wedge dt, \quad (6)$$

$$\alpha_1 = dx \wedge du + u^2 dp \wedge dt + \left(uzp - u^2 z - \frac{2}{9} z^3 \right) dx \wedge dt. \quad (7)$$

*Supported by the National Natural Science Foundation of China under Grant Nos. 11075055, 61021004, 10735030, the Shanghai Leading Academic Discipline Project, China under Grant No. B412, the Program for Changjiang Scholars and the Innovative Research Team in University of Ministry of Education of China under Grant No. IRT 0734

†E-mail: ychen@sei.ecnu.edu.cn

By calculating, we can find that the set of 2-forms is a closed ideal and consequently by Cartan's theory^[12] is completely equivalent to Eq. (3).

Following the WE procedure, we introduce the 1-form

$$\Omega = dy + Fdx + Gdt, \quad (8)$$

and demand the exterior derivatives of Ω in the ring of $\alpha_1, \alpha_2, \alpha_3$

$$d\Omega = f_1\alpha_1 + f_2\alpha_2 + f_3\alpha_3 + \eta \wedge \Omega. \quad (9)$$

By calculating, we find F and G are of the following forms:

$$F = X_1 + u^{2/3}X_2 + u^{-2/3}X_3, \quad (12)$$

$$G = -\frac{1}{180}(-120u^{1/3}p + 90u^{4/3} - 40u^{-2/3}z^2)X_2 - \frac{1}{4}u^{8/3}[X_1, X_5] - \frac{1}{3}u^2[X_2, X_5] - \frac{1}{180}(-40u^{2/3}z + 120u^{5/3}p - 45u^{8/3})X_3 - X_4 - \frac{2}{3}zu^{5/3}X_5 - \frac{1}{5}u^{10/3}[X_3, X_5], \quad (13)$$

and the following Lie bracket relations:

$$\begin{aligned} [X_1, X_2] &= 0, & [X_1, X_3] &= X_5, & [X_2, X_3] &= 0, & [X_3, X_4] &= 0, \\ [X_1, X_4] + [X_3, [X_3, X_5]] &= 0, & \frac{1}{2}[X_2, [X_1, X_5]] + \frac{1}{3}[X_1, [X_2, X_5]] &= 0, \\ [X_2, X_4] + [X_1, [X_3, X_5]] + \frac{1}{2}[X_3, [X_1, X_5]] &= 0, & [X_2, [X_2, X_5]] &= 0, \\ [X_2, [X_3, X_5]] - \frac{1}{2}X_5 + \frac{1}{2}[X_1, [X_1, X_5]] + \frac{1}{3}[X_3, [X_2, X_5]] &= 0. \end{aligned} \quad (14)$$

The Lie bracket relations (14) are the prolongation structure of Eq. (3). The prolongation structure is open. Therefore, its representation is not unique, and it may be an infinity dimensional algebra. In the next section, we will give some interesting representations of the open structure.

3 Representation of Incomplete Lie Algebra

It is well known that the standard Lie algebra relations for $\mathfrak{sl}(2, \mathbb{R})$ are

$$\begin{aligned} [Y_0, Y_1] &= Y_1, & [Y_0, Y_{-1}] &= -Y_{-1}, \\ [Y_{-1}, Y_1] &= -2Y_0. \end{aligned} \quad (15)$$

The one-dimensional representation of relations (15) are given by

$$Y_0 = y \frac{\partial}{\partial y}, \quad Y_1 = y^2 \frac{\partial}{\partial y}, \quad Y_{-1} = -\frac{\partial}{\partial y}, \quad (16)$$

and the two-dimensional representation of the relations are given by

$$\begin{aligned} Y_0 &= \frac{1}{2} \left(y_2 \frac{\partial}{\partial y_2} - y_1 \frac{\partial}{\partial y_1} \right), \\ Y_1 &= -y_2 \frac{\partial}{\partial y_1}, \quad Y_{-1} = -y_1 \frac{\partial}{\partial y_2}. \end{aligned} \quad (17)$$

Here, we set

$$X_i = a_i Y_{-1} + b_i Y_0 + c_i Y_1, \quad (18)$$

then substituting Eq. (18) into Eq. (14) and according to the relations (15), we can get the following four interesting solutions:

Then we can get

$$\begin{aligned} F_z &= 0, & F_p &= 0, & u^2 F_u + G_p &= 0, \\ F_u u z p - F_u z u^2 - \frac{2}{9} F_u z^3 + G_z p + G_u z - [F, G] &= 0, \end{aligned} \quad (10)$$

in which

$$[F, G] = FG_y - GF_y. \quad (11)$$

Case 1 $X_1 = X_3 = X_4 = X_5 = 0, X_2 = Y_{-1}$.

In this case, we can get

$$\Omega = dy - u^{2/3} dx - \left(\frac{1}{4} u^{8/3} + \frac{2}{9} u^{2/3} u_x^2 - \frac{2}{3} u^{5/3} u_{xx} \right) dt, \quad (19)$$

and on the solution manifold of the prolonged ideal, we will have

$$y_x = u^{2/3}, \quad (20)$$

$$y_t = \frac{1}{4} u^{8/3} + \frac{2}{9} u^{2/3} u_x^2 - \frac{2}{3} u^{5/3} u_{xx}. \quad (21)$$

Therefore, if the equations satisfied by y are Eqs. (20)–(21), y is a potential and conservation law for Eq. (3).

Case 2 $X_1 = X_2 = X_4 = X_5 = 0, X_3 = Y_{-1}$.

In this case, we can get

$$\Omega = dy - u^{-2/3} dx - \left(\frac{2}{3} u^{1/3} u_{xx} + \frac{2}{9} u^{-2/3} u_{xx} - \frac{1}{2} u^{4/3} \right) dt, \quad (22)$$

and on the solution manifold of the prolonged ideal, we will have

$$y_x = u^{-2/3}, \quad (23)$$

$$y_t = \frac{2}{3} u^{1/3} u_{xx} + \frac{2}{9} u^{-2/3} u_{xx} - \frac{1}{2} u^{4/3}. \quad (24)$$

Therefore, if the equations satisfied by y are Eqs. (23)–(24) is another potential and conservation law for Eq. (3).

Case 3 $X_1 = Y_0, X_2 = 0, X_3 = \lambda(-Y_{-1} + Y_1), X_4 = 4\lambda^3(-Y_{-1} + Y_1), X_5 = \lambda(Y_{-1} + Y_1)$.

In this case, according to the one-dimensional representation (16) of $\mathfrak{sl}(2, \mathbb{R})$, we can get a pseudopotential of Eq. (3)

$$\Omega = dy + (-\lambda u^{-2/3} y^2 - y - \lambda u^{-2/3}) dx + \left(-\frac{2}{9} (3u^{1/3}(u_x + u_{xx}) + u^{-2/3} u_x^2 + 18\lambda^2) \lambda y^2 \right)$$

$$-4\lambda^2 u^{2/3} y - \frac{2}{9}(3u^{1/3}(-u_x + u_{xx}) + u^{-2/3}u_x^2 + 18\lambda^2)\lambda) dt. \quad (25)$$

Meanwhile, under the two-dimensional representation (17) of $\mathfrak{sl}(2, \mathbb{R})$, we can obtain two Pfaffian forms

$$\Omega_1 = dy_1 + \left(-\frac{1}{2}y_1 - \lambda u^{-2/3}y_2\right) dx + \left(-2\lambda^2 u^{-2/3}y_1 - \frac{2}{9}(3u^{1/3}(z+p) + u^{-2/3}z^2 + 18\lambda^2)\lambda y_2\right) dt, \quad (26)$$

$$\Omega_2 = dy_2 + \left(\lambda u^{-2/3}y_1 + \frac{1}{2}y_2\right) dx + \left(\frac{2}{9}(3u^{1/3}(-z+p) + u^{-2/3}z^2 + 18\lambda^2)\lambda y_1 + 2\lambda^2 u^{-2/3}y_2\right) dt. \quad (27)$$

On the solution manifold of the prolonged ideal we will get the inverse scattering problem associated to the Qiao equation (1)

$$\frac{\partial}{\partial x} y_1 = -\frac{1}{2}y_1 - \lambda u^{2/3}y_2, \quad (28)$$

$$\frac{\partial}{\partial x} y_2 = \lambda u^{2/3}y_1 + \frac{1}{2}y_2, \quad (29)$$

$$\begin{aligned} \frac{\partial}{\partial t} y_1 &= -2\lambda^2 u^{-2/3}y_1 - \frac{2}{9}(3u^{1/3}(u_x + u_{xx}) \\ &\quad + u^{-2/3}u_x^2 + 18\lambda^2)\lambda y_2, \end{aligned} \quad (30)$$

$$\begin{aligned} \frac{\partial}{\partial t} y_2 &= -\frac{2}{9}(3u^{1/3}(u_x + u_{xx}) + u^{2/3}u_x^2 \\ &\quad + 18\lambda^2)\lambda y_1 + 2\lambda^2 u^{-2/3}y_2. \end{aligned} \quad (31)$$

Moreover, if we express Eqs. (28)–(31) in matrix forms, it is just an equivalent form of the Lax pair of Eq. (1) obtained by Qiao,^[1] the formulations are omitted for the sake of concision, and we do not discuss this case further.

Case 4 $X_1 = (1/2)(Y_{-1} + Y_1)$, $X_2 = 0$, $X_3 = \lambda Y_0$, $X_4 = -\lambda^3 Y_0$, $X_5 = (1/2)\lambda(Y_{-1} - Y_1)$.

In this case, according to the one-dimensional representation (16) of $\mathfrak{sl}(2, \mathbb{R})$, we can get another pseudopotential of Eq. (3)

$$\begin{aligned} \Omega &= dy + \left(\frac{1}{2}y^2 + \lambda u^{-2/3}y - \frac{1}{2}\right) dx \\ &\quad + \left(\left(-\frac{1}{2}\lambda^2 u^{2/3} - \frac{1}{3}\lambda u^{1/3}z\right)y^2\right. \\ &\quad + \left(\frac{2}{3}\lambda u^{1/3}p + \frac{2}{9}\lambda u^{-2/3}z^2 - \lambda^3\right)y \\ &\quad \left. + \frac{1}{2}\lambda^2 u^{2/3} - \frac{1}{3}\lambda u^{1/3}z\right) dt. \end{aligned} \quad (32)$$

On the solution manifold of the prolonged ideal, we will have

$$\frac{\partial}{\partial x} y = -\frac{1}{2}y^2 - \lambda u^{-2/3}y + \frac{1}{2}, \quad (33)$$

$$\begin{aligned} \frac{\partial}{\partial t} y &= \left(\frac{1}{2}\lambda^2 u^{2/3} + \frac{1}{3}\lambda u^{1/3}u_x\right)y^2 \\ &\quad + \left(-\frac{2}{3}\lambda u^{1/3}u_{xx} - \frac{2}{9}\lambda u^{-2/3}u_x^2 + \lambda^3\right)y \end{aligned}$$

$$-\frac{1}{2}\lambda^2 u^{2/3} + \frac{1}{3}\lambda u^{1/3}u_x. \quad (34)$$

The first of these equations is a Riccati equation whose quadratic term coefficient is a constant, from which we can get the Lax equations and infinite number of conserved quantities, and the detail will be given in the next section.

Similar to Case 3, we can also obtain another two Pfaffian forms

$$\begin{aligned} \Omega_1 &= dy_1 + \left(-\frac{1}{2}\lambda u^{-2/3}y_1 - \frac{1}{2}y_2\right) dx \\ &\quad + \left(\left(-\frac{1}{3}\lambda u^{1/3}p - \frac{1}{9}\lambda u^{-2/3}z^2 + \frac{1}{2}\lambda^3\right)y_1\right. \\ &\quad \left. + \left(\frac{1}{2}\lambda^2 u^{2/3} + \frac{1}{3}\lambda u^{1/3}z\right)y_2\right) dt, \end{aligned} \quad (35)$$

$$\begin{aligned} \Omega_2 &= dy_2 + \left(-\frac{1}{2}y_1 + \frac{1}{2}\lambda u^{-2/3}y_2\right) dx \\ &\quad + \left(\left(\frac{1}{2}\lambda^2 u^{2/3} - \frac{1}{3}\lambda u^{1/3}z\right)y_1\right. \\ &\quad \left. + \left(\frac{1}{3}\lambda u^{1/3}p + \frac{1}{9}\lambda u^{-2/3}z^2 - \frac{1}{2}\lambda^3\right)y_2\right) dt, \end{aligned} \quad (36)$$

and on the solution manifold of the prolonged ideal we will get another new inverse scattering problem

$$\frac{\partial}{\partial x} y_1 = \frac{1}{2}\lambda u^{-2/3}y_1 + \frac{1}{2}y_2, \quad (37)$$

$$\frac{\partial}{\partial x} y_2 = \frac{1}{2}y_1 - \frac{1}{2}\lambda u^{-2/3}y_2, \quad (38)$$

$$\begin{aligned} \frac{\partial}{\partial t} y_1 &= \left(\frac{1}{3}\lambda u^{1/3}u_{xx} + \frac{1}{9}\lambda u^{-2/3}u_x^2 - \frac{1}{2}\lambda^3\right)y_1 \\ &\quad + \left(-\frac{1}{2}\lambda^2 u^{2/3} - \frac{1}{3}\lambda u^{1/3}u_x\right)y_2, \end{aligned} \quad (39)$$

$$\begin{aligned} \frac{\partial}{\partial t} y_2 &= \left(-\frac{1}{2}\lambda^2 u^{2/3} + \frac{1}{3}\lambda u^{1/3}u_x\right)y_1 \\ &\quad + \left(-\frac{1}{3}\lambda u^{1/3}u_{xx} - \frac{1}{9}\lambda u^{-2/3}u_x^2 + \frac{1}{2}\lambda^3\right)y_2. \end{aligned} \quad (40)$$

In fact Eqs. (37)–(40) can also be obtained from Eqs. (33)–(34) through the linearising transformation $y = y_2/y_1$. If Eqs. (37)–(40) are expressed in matrix forms, we will get a new Lax pairs of Eq. (3):

$$\begin{pmatrix} y_1 \\ y_2 \end{pmatrix}_x = \begin{pmatrix} \frac{1}{2}\lambda u^{-2/3} & \frac{1}{2} \\ \frac{1}{2} & -\frac{1}{2}\lambda u^{-2/3} \end{pmatrix} \begin{pmatrix} y_1 \\ y_2 \end{pmatrix}, \quad (41)$$

$$\begin{pmatrix} y_1 \\ y_2 \end{pmatrix}_t = \begin{pmatrix} \frac{1}{3}\lambda u^{1/3}u_{xx} + \frac{1}{9}\lambda u^{-2/3}u_x^2 - \frac{1}{2}\lambda^3 & -\frac{1}{2}\lambda^2 u^{2/3} - \frac{1}{3}\lambda u^{1/3}u_x \\ -\frac{1}{2}\lambda^2 u^{2/3} + \frac{1}{3}\lambda u^{1/3}u_x & -\frac{1}{3}\lambda u^{1/3}u_{xx} - \frac{1}{9}\lambda u^{-2/3}u_x^2 + \frac{1}{2}\lambda^3 \end{pmatrix} \begin{pmatrix} y_1 \\ y_2 \end{pmatrix}. \quad (42)$$

4 Conservation Laws of the Qiao Equation

If we solve y^2 from Eq. (33) and substitute it into Eq. (34), we can obtain

$$y_t = \left(- \left(\lambda^2 u^{2/3} + \frac{2}{3} u^{1/3} u_x \right) y + \frac{1}{2} \lambda u^{4/3} \right)_x. \quad (43)$$

Then by means of

$$y = 2(\ln \psi)_x, \quad (44)$$

we can obtain the Lax equations from Eqs. (33) and (43):

$$\psi_{xx} = -\lambda u^{-2/3} \psi_x + \frac{1}{4} \psi, \quad (45)$$

$$\psi_t = - \left(\lambda^2 u^{2/3} + \frac{2}{3} \lambda u^{1/3} u_x \right) \psi_x + \frac{1}{4} \lambda u^{4/3} \psi. \quad (46)$$

Moreover, we can obtain infinite number of conserved quantities from the Lax equations (45) and (46). As we know

$$\frac{\partial}{\partial t} \frac{\partial}{\partial x} \ln \psi = \frac{\partial}{\partial x} \frac{\partial}{\partial t} \ln \psi, \quad (47)$$

according to Eq. (46), we have

$$\begin{aligned} \frac{\partial \psi_x}{\partial t} \frac{\psi}{\psi} &= \frac{\partial \psi_t}{\partial x} \frac{\psi}{\psi} \\ &= \frac{\partial}{\partial x} \frac{(\lambda^2 u^{2/3} + (2/3)\lambda u^{1/3} u_x) \psi_x + (1/4)\lambda u^{4/3} \psi}{\psi} \\ &= \frac{\partial}{\partial x} \left(\frac{1}{4} \lambda u^{4/3} - \left(\lambda^2 u^{2/3} + \frac{2}{3} \lambda u^{1/3} u_x \right) \frac{\psi_x}{\psi} \right), \end{aligned} \quad (48)$$

then setting $\psi_x/\psi = \Gamma$, and by means of Eq. (45) we have

$$\begin{aligned} \Gamma_x &= \frac{\psi_{xx}}{\psi} - \left(\frac{\psi_x}{\psi} \right)^2 = \frac{1}{4} - \lambda u^{-2/3} \frac{\psi_x}{\psi} - \left(\frac{\psi_x}{\psi} \right)^2 \\ &= \frac{1}{4} - \lambda u^{-2/3} \Gamma - \Gamma^2. \end{aligned} \quad (49)$$

Setting

$$\Gamma = \mu \Gamma_{-1} + \Gamma_0 + \frac{\Gamma_1}{\mu} + \frac{\Gamma_2}{\mu^2} + \dots, \quad (\lambda = \mu), \quad (50)$$

and substituting into Eq. (48), then comparing the coefficient of μ^i , we have

$$i = 2 : \Gamma_{-1}^2 + u^{-2/3} \Gamma_{-1}, \quad (51)$$

$$i = 1 : \Gamma_{-1,x} + 2\Gamma_{-1}\Gamma_0 + u^{-2/3}\Gamma_0, \quad (52)$$

$$i = 0 : \Gamma_{0,x} - \frac{1}{4} + 2\Gamma_{-1}\Gamma_1 + \Gamma_0^2 + u^{-2/3}\Gamma_1, \quad (53)$$

$$i = -1 : \Gamma_{1,x} + 2\Gamma_0\Gamma_1 + 2\Gamma_{-1}\Gamma_2 + u^{-2/3}\Gamma_2, \quad (54)$$

$$i = -2 : \Gamma_{2,x} + 2\Gamma_{-1}\Gamma_3 + 2\Gamma_0\Gamma_2 + \Gamma_1^2 + u^{-2/3}\Gamma_3, \quad (55)$$

...

$$i = j : \Gamma_{j,x} + \sum_{l+k=j} \Gamma_l \Gamma_k + 2\Gamma_{-1}\Gamma_{j+1}, \quad (56)$$

from which we can obtain

$$\Gamma_{-1} = -u^{-2/3}, \quad (57)$$

$$\Gamma_0 = \frac{2}{3} u^{-1} u_x, \quad (58)$$

$$\Gamma_1 = \frac{2}{3} u^{-1/3} u_{xx} - \frac{2}{9} u^{-4/3} u_x^2 - \frac{1}{4} u^{2/3}, \quad (59)$$

$$\Gamma_2 = \frac{2}{3} u^{1/3} u_{xxx} + \frac{2}{9} u^{-2/3} u_x u_{xx} - \frac{1}{2} u^{-1/3} u_x, \quad (60)$$

$$\begin{aligned} \Gamma_3 &= \frac{2}{3} u u_{xxxx} + \frac{4}{3} u_x u_{xxx} \\ &\quad - \frac{13}{18} u_x^2 - \frac{4}{27} u^{-1} u_{xx} u_x^2 - \frac{5}{6} u u_{xx} \\ &\quad + \frac{2}{3} u_{xx}^2 + \frac{4}{81} u^{-2} u_x^4 + \frac{1}{16} u^2, \end{aligned} \quad (61)$$

...

$$\Gamma_{j+1} = -\frac{1}{2\Gamma_{-1}} \left[\Gamma_{j,x} + \sum_{l+k=j} \Gamma_l \Gamma_k \right]. \quad (62)$$

Every Γ_n is a conservation density. The conserved quantity of the Γ_{-1} is just the potential we have obtained in Case 2.

When we make the transformation

$$u = m^{-3/2}, \quad (63)$$

all the above conclusion can be transformed into the corresponding conclusion of the Qiao equation (1).

5 Conclusions

In this letter, we obtain the prolongation structure of the equation proposed by Qiao *et al.*^[1-2] and introduce the relations with the basis of Lie algebra $sl(2, \mathbb{R})$ to study the Lie algebra construction of this prolongation structure. Meanwhile, two potentials and two pseudopotentials are obtained, from which some integrable features including inverse scattering problems, Lax equations and an infinite number of conservation quantities are obtained, from which the integrability of this equation is further proved.

References

[1] Z.J. Qiao, J. Math. Phys. **48** (2007) 082701.
 [2] Z.J. Qiao and L.P. Liu, Chaos, Solitons and Fractals **41** (2009) 587.
 [3] J.B. Li and Z.J. Qiao, J. Math. Phys. **51** (2010) 042703.
 [4] Z.J. Qiao, J. Math. Phys. **47** (2006) 112701.
 [5] Z.J. Qiao, Commun. Math. Phys. **239** (2003) 309.
 [6] Z.J. Qiao and G.P. Zhang, Europhys. Lett. **73** (2006) 657.
 [7] G.P. Zhang and Z.J. Qiao, Math. Phys. Anal. Geom. **10** (2007) 205.
 [8] P.G. Estevez, Phys. Lett. A **375** (2011) 537.
 [9] P.G. Estevez and J. Prada, J. Nonlin. Math. Phys. **11** (2004) 164.
 [10] H.D. Wahlquist and F.B. Estabrook, J. Math. Phys. **16** (1975) 1.
 [11] R. Dodd and A. Fordy, Proc. R. Soc. Lond. A **385** (1983) 389.
 [12] E. Cartan, *Les Systèmes Différentiels Extérieurs et Leurs Applications Géométriques*, Hermann, Paris (1945).